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RFP = Request For Proposal

S.��*�+	,��9:
TP = Technical Proposal

b.��*�+	,�/��:
FP = Financial Proposal

Q�.C�o@��1�F�8��	J	�:
QBS = Quality Based Selection

QQ.C�o@��1�F�8��	J	���G	5:
QCBS = Quality and Cost Based Selection

QN.C�o@��1�F�8��^�&�����:
SFB = Selection under a Fixed Budget

QR.C�o@��$�U
�8�$�4D��:
SSS = Single Source Selection

Qe.�W	)C�o@��$��+�:
EC = Evaluation Committee

QO.�G	,$�����&GA:
GC= General Contractor

Qn.U
�8���&GA���$�85:
GCC = General Conditions of Contract

Q�. 8c����F:
DB= Design and Build

QS. 8c����F)�F��*�<�	�u
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EPC = Engineering and Procurement and

Construction
Qb. 8c����F)�F��*�<���F:(

EC = Engineering and Construction
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